
National 5 Homework : 1 year course   
Solving Quadratic Functions 
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1.  Solve the following quadratic equations by factorising:- 
 

(a)   (b)   (c)  0364 2 =−x 01282 =++ xx 012112 2 =+− xx
 
 
2.  Solve the following quadratic equation using the formula, correct to 2 decimal places:- 
 

(a)   (b)  0472 =++ xx 011123 2 =+− aa

a
acbbx

2
42 −±−

=   
 

  

3. Find the discriminant for each of these and use it to determine the nature of the roots:- 
 
 (a) 102 +x   (b)  025 0694 2 =++ xx
 
 
4. If has one real root find the value of a. 0162 =++ xax
 
 
5. A cuboid is shown below. 
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 It has length (x + 5) metres, breadth x metres, height 1 metres and volume 24 cubic metres. 
 

(a) Show that 024  52 =−+ xx
 
(b) Using the equation in part (a), find the breadth of the cuboid. 

 


